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#include <iostream>
#include <algorithm>
#include <cstdio>
#include <cstring>
using namespace std;
const int N = 50010;
int wa[N], wb[N], wv[N], wss[N];
int n, T, rak[N], height[N], cal[N], sa[N];
char s[N];
bool cmp(int *r, int a, int b, int I)
{
return r[a] == r[b] && r[a + [] ==r[b + [];
}
void da(int *r, int *sa, int n, int m)
{
inti, j, p, *x = wa, *y = wb;
for(i=0;i<m;i++)wss[i] =0;
for (i = 0;i < n;i++) wss[x][i] = r[i]]++;
for (i=1;i < m;i++)wss[i] += wss[i - 1];
for(i=n-1;i>=0;i--) sa[--wss[x][i]]] = i;
forG=T1,p=T,p<nj*=2,m=p){
for(p=0,i=n-j;i<n;i++)y[p++] =i
for(i=0;i<n;i++)
if (sa[i] >=j) ylp++] = sali] - j;
for (i =0;i < n;i++) wv[i] = x[y[il];
for(i=0;i < m;i++)wss[i] =0;
for (i = 0;i < n; i++) wss[wv[i]]++;
for (i=1;i < m;i++)wss[i] += wss]i - 1];
for(i=n-1;i>=0;i--) sa[--wss[wV[i]]] = yI[i];
for (swap(x, y), p =1, x[sa[0]] =0,i =1;i < n;i++) {
if (cmp(y, sali - 1], salil, j)) x[sa[i]l = p - 1;
else x[sa[i]] = p++;
}
}
}
void calc(int *r, int *sa, int n)
{
inti,j, k=0;
for (i=1;i <= n;i++) rak[sa[i]] =i
for (i = 0; i < n; height[rak[i++]] = k)
for (k ? k--:0,j = sa[rak[i] - 1]; r[i + k] == r[j + k]; k++);

for (i=n;i;i--) {
rak[i] = rak][i - 1];
sali]++;
}
}
int main()

{
// freopen("in.txt", "r", stdin);

// freopen("out.txt", "w", stdout);
scanf("%d", &T);
while (T--) {
scanf("%s", s + 1);
int n = strlen(s + 1);
for (inti=1;i<=n;i++) calli] = s[i];
calln + 1] = 0;
da(cal + 1,sa, n + 1, 150);
calc(cal + 1, sa, n);
int res = 0;
for (inti=1;i<=n;i++)
res = res + n - sali] + 1 - height][i];
printf("%d\n", res);
}

return O;
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